5780 2

(1) BB f(2) = 22E2 2BV, f(o) =2 LB o DEERDE,

(2) (1) TBIT o D2 DO0fi% a, b(a<b) bFprx, LB =0y a-0 ppy
‘ f(z)-b b

THER k DHZED K,

(3) B 01 = 1, an = o2 (02 2) TEHENBEG {an} O—WHan , Bk

U BRI Jim a, ZRD &Ko

0 EMR)
2tk =2 —2 43 = 24— L2 :.f;
23 =1 }
245 =5A -3=0 (=3 (zx4) =0 O L= 375
2) a<h 1y = L }-3
T2
sa—] @ «21—#3—9«-&1(},}("7) ~grtbt2 7T —2a—) "Z(i‘l—'zL)
NSRRIl - - P ———t
A ety o3lex-ny | EATETIATR s (a3
207 -
)
4.2 L x-a gL
5 -3 g H—b Btk
8 * . B
Am ‘Ty(,\alh"!) 7Y ( 22) ¢ (2)7 9
|
mt= Qw72 AE 3 ey L
am- 3 aﬂ\‘“l—‘ 3 a/\vg
% e 575
S
Om* = 37 | \m~| EYARY S q 7] m=|
s 3, et o) om 12 ()
v 9 /) \m-_d
3y L Aol ()" 2
O\m[l*?(%) \(" 4(5’)_“2 T Yoot
| = (%)
Y-S g b Om> =3 i
U RN S Z;Je_—

% ""'—E%('E‘l)mq
1 #¥  http://www.mathtext.info/



